EALE

Parts Information:
Compressor 24ltr Belt Drive 1.5hp Oil Free

Model No: SAC03224

Item | Part No. Description Item | Part No. Description
A SAC9700002201 PUMP UNIT 17 SAC9106710080 UPPER SPACER
1 SAC9700000632 | ELBOW 18 | SAC9106710090 UPPER COVER SPACER
2 SAC9700001816 FAN COVER (SINGLE) 19 | SAC9700000633 | OLIVE
2A | SAC9700001707 RILSAN TUBE 20 | SAC9700000634 | HOSE NUT
3 SAC9700001698 PRESSURE SWITCH 16/20Amp 12Bar 175Psi 21 SAC9700002044 INFEED HOSE
4 SAC9700000330 | JOINT 1/4"x 27 22 | SAC9700000631 NUT
5 SAC9700001800 | SAFETY VALVE 23 | SAC9106710130 COVER
6 SAC9700002659 | PRESSURE GAUGE d.50 24 | SAC9700001693 SCREW
7 SAC9700002618 PRESSURE REDUCER 25 SAC7031030000 WASHER
8 SAC9700002660 PRESSURE GAUGE d.50 26 SAC9700002001 COVER SUPPORT
9 SAC9700001766 QUICK COUPLING 27 SAC9700002178 SCREW (M6x10)
10 SAC7011040000 SCREW (M6x20) 28 SCB625.S SOCKET CAP BOLT ZINC M6X25
n RW619.S REPAIR WASHER M6x19 (SINGLE) 29 SAC9700002002 HANDLE
12 SAC9700001268 RUBBER FOOT 30 SAC9700002094 PUMP COVER
13 | SAC9700002085 | TANK 24ltr 31 | SAC9700002004 | MOTOR CABLE
14 SAC9700000750 DRAIN VALVE 32 SAC9700001302 INFEED CABLE
15 SAC9700001528 NON-RETURN VALVE 33 SAC7013060000 SCREW (4x8)
16 | SAC9106710100 LOWER SPACER 34 | SAC9700010183 WASHER

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | |ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 10of1

SACO03224 Issue 2 PL 18/10/17




